0002047182597999

&0 LAY 0—e—

2014 £F BAULEL (&) - % - O 32 (kb)) 2817 | % / 2%

L xkoz [ 7 |~ & |1t Tk o8z 20AT L.

!
X=27,

(1) (logzx)(logs9z) —6logyxr —6 = 0 Z /=¥ x DIfiE TRTRDB &, ChD.

(2) FEREEm LA A(L, 1), BB, 7), C(—1, B)2d3d. Zok X, MCEMYEMRAB & MY 5

DHEEAZ Yy = @é/ —B_;,.—:C_i-i_gi >
(3) EMaAABRA (1 +D22—(B+Dz+6—2=0%MWrTes, =[5 | Thd. £EL, {ILEK
e 5. 1%
T _ . :
(D 0<0< 5 LT3, tan@ = JT DL ¥, sinf = THhb. 'z"rlé"

(5) 32DV AZFEMHIET =& X, /- BHOBUMED b & 74 2 ekl TH5.
6) BRAP(x)=x*+ar:+br+cld 22 —32+2TCEo- XDRVMN 22 +T7ThY, By =P(x)
o=l THEELE. corE, a= [ A ], b=[F ]  c= (2] w55,
(D |a|=2 |b|=3 |a+b|=/0t% a-b=[7 |Th3.
(8) l'ﬁfﬁfﬁyZr—l-kai‘FEI:cz—waLyz:0&#7(%‘)#%%’)/:/%, <k< TH3.
— =25 —2445

o ECEAF L. A>0 -0 (%

E

LBy A bgsr
& o % 4K &), (j,o%x)(gugaqx)—é.ga—q—g_o
“ (Bg3x) (2+ bogsx) =3 Loga A ~ 6= 0

t=fogsx £®<t. t(t+2)-3t-6=0 & t-t-46=0
& (t-3)(t+2)=0

FT=3,72 8 gy =3,72 cox=27,7 @ 0ART
-1
(2) B$% AB01RE (T o =3
. ! . Jorin B2
SERn3ERRE. $E oS (xt)+l Yz -t

@ X+ =-Fx-xtb-2L=0 & ((X-x-2)rA*-FL+£=0

L ReA=2 =0 M7 B-EX+6=0 & (x-)@tr1)=o 4> (x-2(A"3)=0

w R=2

v

- —

1 ;
(.4') f+t'0.h29= E:;—;g &Y. COSJ-Q: 7 Sgipt B =

3 i
9 (3)-() - 5

—_—
——— ”

Lrbars




0002047182597999

o0 LBAE 0—e

2014 4 BARDHE (M%) - #2 - 332 (@) 51 2808 /2#%

1| &% [ 7 ]~[F | ST E3MEARE DAL,

(1) (logzx)(logz9x) —6loggr —6=0%i~d Dz TRTRD2 &, Thsd.

(2) BERREmE AL, 1), BB, 7), C(—1, 5)»dHs. Tk, HC%EYHEEAB & HET 3 HEE
ARGy =1 | Ths.

(3) B ARRA+D2? —G+Dr+6—20=0%MWrETeE, 1= 7 | Ths. 2L, iI2EK
Bfire §5.

(D 0<O<TrTd. tan0=VTOLE, sinf=[ T | To3.

(6) 32oDXINWZAEFEMHI BT 2L &, W BORIMEN b & 2 B HERIE TH5.

(6) BRAP(x)=23+ar? +br+cid 22 —3x+2TE->- EORUM 20+ TTHY, By = P(x)
Hr=1ClEzLs. ZOrE, a=[# |, b=[* |, c=[2 | Th3.

(D) |a|=2 |b|=3 |a +b|=450r%, a-b=[F]chs.

8) EMy=2r+kdHz?-2r+yl=0tEREet oL ¥, <k< TH?.

(&) Py = (~2)-1) Q) — 22+ 7
i) £

SPMy=6, P(2)=3 tw3ns, P()= a+brc+{ =5, P(2)=4a+2b+t(+8 =3
sfa+brc=4 @

{4a+2b+c=-5 )

ite, 0 = 3 +2ax+b &, fly= 2a+b+3=0 S 20t b=-3---0Q
@-® ). 3a+b=-9" &

®-@r). a=-6 :zay¥. b=9,C=1

L

(n I;.,.'b’lz:g;nj_ Ial*+ [P+ 28-F =5 -~ 4+9+23-p=5" --E"E)""‘f'o
(8) B : (=17 +Y*=1 & Pz (1,0), ¥
L Ao eBERRL 0¥ 413
/= |2kl [Real d
B 1!2’-+(~1)’~ 5
“dg &y, |R+2] 245 d s 1 ennd
&0,

ﬁl"“F'&'f_S.O == SRS -2445

“




